
 

 

哈尔滨 2023 年全国英语等级考试考试试

（四级）真题模拟汇编 

（共 159 题）  

1、From this text we learn that it is ______. （单选题） 

A. harder to make a choice between public and private schools 

B. harder to go to private schools this year than before 

C. more difficult to go to public schools than to private schools 

D. as difficult to go to private schools this year as before 

试题答案：B 

2、What is an Advance Directive? （单选题） 

A. A decision made by a doctor on how to end a patient ’s life. 

B. A hospital document on how to treat a terminally ill patient. 

C. A wish made by a patient on how he will be medically treated. 

D. A law that prohibits mercy killing. 

试题答案：C 

3、A flight to other solar systems will be made more possible by ______. （单选题） 

A. technological breakthroughs. 

B. international co-operation. 

C. market competition. 

D. public pressure. 

试题答案：A 

4、Steven Muller believes that higher education fails to ______. （单选题） 



 

 

A. inform the students of what is right or wrong. 

B. tell the students which scientific method is valuable. 

C. present valuable religious ideas to students. 

D. familiarize students with means of inquiry. 

试题答案：A 

5、It can be inferred from the text that prior to 1960 ______. （单选题） 

A. only two scientists studied psycholinguistics. 

B. psycholinguistics enjoyed little popularity. 

C. Montreal was the center of psychological studies. 

D. most studies focused on psychology of learning. 

试题答案：B 

6、The idea that education transmits knowledge is dated back to ______. （单选题） 

A. the Renaissance humanists 

B. the medieval universities 

C. the 18th century ’s American scholars 

D. the cold war period 

试题答案：B 

7、Which of the following statements is true according to the text? （单选题） 

A. Washington would not appreciate the idea of overthrowing social order. 

B. Racial separation is an outcome of accommodationist ideology. 

C. Washington would not support determined activist leadership. 

D. The Philadelphia Negro is a book on blacks in American South. 

试题答案：A 

8、Steven Muller believes that higher education fails to ______. （单选题） 



 

 

A. inform the students of what is right or wrong. 

B. tell the students which scientific method is valuable. 

C. present valuable religious ideas to students. 

D. familiarize students with means of inquiry. 

试题答案：A 

9、The text is probably written as ______. （单选题） 

A. a report of scientific progress to the general public. 

B. an academic discussion of new possibilities in genetic science. 

C. an argument for using pigs over sheep as transplant materials. 

D. a look into advantages and disadvantages of cloning technology. 

试题答案：A 

10、Education for education ’s sake was probably opposed by ______. （单选题） 

A. scholars in the Renaissance period 

B. Jill Kerr Conway 

C. scholars in the Dark Ages 

D. Plato 

试题答案：D 

11、The text is mainly about ______. （单选题） 

A. the contributions of two scientists to psychological studies of language. 

B. the psychological studies on language learning in the 1950s. 

C. Carroll ’s studies on the hypothesis put forward by Penfield. 

D. the influence of language learning on psychological studies. 

试题答案：B 

12、One important source of fat is ______. （单选题） 



 

 

A. oil 

B. grains 

C. sugar 

D. olive 

试题答案：A 

13、What is true about Dolly according to the text? （单选题） 

A. She was a lonely sheep in the first place. 

B. She was manufactured out of the lab. 

C. She was cloned from the cell of a mature sheep. 

D. She was replaced by cloned piglets in terms of importance. 

试题答案：C 

14、What is the author ’s attitude toward the U. S. health care system? （单选题） 

A. Prejudiced. 

B. Critical. 

C. Sympathetic. 

D. Approving. 

试题答案：B 

15、The “tissue factories ” in the second paragraph most probably refers to ______.
（单选题） 

A. the five genetically identical piglets. 

B. places for the production of tissues. 

C. animals whose organs would be used for human consumption. 

D. animals which would be raised in quantity for transplant materials. 

试题答案：D 



 

 

16、It can be inferred from the last paragraph that ______. （单选题） 

A. many blacks are prepared for leadership. 

B. Du Bois was in favor of “elite education ” for blacks. 

C. Washington and Du Bois had never been friends. 

D. only the top 10 percent are worth educating. 

试题答案：B 

17、It can be inferred from the text that prior to 1960 ______. （单选题） 

A. only two scientists studied psycholinguistics. 

B. psycholinguistics enjoyed little popularity. 

C. Montreal was the center of psychological studies. 

D. most studies focused on psychology of learning. 

试题答案：B 

18、One problem of using pig organs on humans is ______. （单选题） 

A. the size of the pig organs. 

B. the quick rejection of the transplant by human bodies. 

C. the speed of their maturity. 

D. the technical complexity of the operational process. 

试题答案：B 

19、A doctor will be guilty of murder if he ______. （单选题） 

A. advises a patient to draw up his Advance Directive 

B. refuses to carry out an Advance Directive 

C. actively prescribes a medication that will quicken the death of a terminal patient 

D. stops giving medication to a terminally ill patient according to his Advance Directive 

试题答案：C 



 

 

20、We can infer from the last paragraph that ______. （单选题） 

A. Americans enjoy the medical care of their choice. 

B. most Canadians deem their health care system to be flawless. 

C. Canadians do not benefit from all new medical achievements. 

D. most Americans are proud of their health care system. 

试题答案：C 

21、Incomplete proteins ______. （单选题） 

A. have all the essential amino acids 

B. are manufactured by the body 

C. can mix with other proteins to form complete proteins 

D. can be gained from meat, fish, eggs, and milk 

试题答案：C 

22、Penfield ’s viewpoint was met with much ______. （单选题） 

A. interest. 

B. controversy. 

C. compliments. 

D. encouragement. 

试题答案：A 

23、It is Du Bois ’s belief that ______. （单选题） 

A. the blacks have a priority in terms of education. 

B. higher education should be free for all races. 

C. everyone has an equal right to education. 

D. development in education should be gradual. 

试题答案：C 



 

 

24、The text is probably written as ______. （单选题） 

A. a report of scientific progress to the general public. 

B. an academic discussion of new possibilities in genetic science. 

C. an argument for using pigs over sheep as transplant materials. 

D. a look into advantages and disadvantages of cloning technology. 

试题答案：A 

25、According to Paragraph 2, who are most likely to be poor? （单选题） 

A. Women of color. 

B. White women. 

C. Men of color. 

D. White men. 

试题答案：A 

26、Compared with B. T. Washington, Du Bois ’s political stand was ______. （单选题） 

A. less popular. 

B. more radical. 

C. less aggressive. 

D. more conservative. 

试题答案：B 

27、What is the theme of the text? （单选题） 

A. The causes of low-wage problems. 

B. The inequality of workers ’ pay. 

C. The improvement of the rates of pay. 

D. The economy and the rates of pay. 

试题答案：B 



 

 

28、From this text we learn that it is ______. （单选题） 

A. harder to make a choice between public and private schools 

B. harder to go to private schools this year than before 

C. more difficult to go to public schools than to private schools 

D. as difficult to go to private schools this year as before 

试题答案：B 

29、The author ’s primary purpose in the text is to ______. （单选题） 

A. clarify the kinds of understanding an adolescent must have in order to develop a 
political ideology 

B. dispute the theory that a political ideology can be acquired during adolescence 

C. explain why adolescents are generally uninterested in political arguments 

D. suggest various means of encouraging adolescents to develop personal political 
ideologies 

试题答案：A 

30、The best title for this passage might be “______”.（单选题） 

A. Dr Starzl and Transplant Surgeons 

B. Transplant Surgery in the US 

C. The Future of Transplant Surgery 

D. Success in Transplant Surgery and Shortage of Organs 

试题答案：D 

31、One problem of using pig organs on humans is ______. （单选题） 

A. the size of the pig organs. 

B. the quick rejection of the transplant by human bodies. 

C. the speed of their maturity. 

D. the technical complexity of the operational process. 



 

 

试题答案：B 

32、The author ’s proposal differs from the Immigration and Naturalization Act of 1990 
in ______. （单选题） 

A. the kind of green card. 

B. the amount of investment capital. 

C. the budget for the whole process. 

D. the certainty of issuing green cards. 

试题答案：D 

33、From the text, we can infer that the author ______. （单选题） 

A. favors the idea of putting children on a waiting list 

B. agrees to test preschooler ’s cognitive potentials 

C. thinks children should be better prepared academically 

D. disapproves of the undue pressure on preschoolers 

试题答案：D 

34、According to the text, Du Bois worked as all of the following EXCEPT ______. （单

选题） 

A. an editor. 

B. an educator. 

C. a scholar. 

D. an official. 

试题答案：D 

35、The text indicates that private schools are very selective because they ______.
（单选题） 

A. have no reliable methods to pick students for a class 

B. want a good mixture of boys and girls for classes 



 

D. prefer to enroll children of their relatives 

试题答案：C 

36、It is difficult to send people to other planets because of ______. （单选题） 

A. lack of capacity of space exploration vehicles. 

B. the financial expenditure involved in space travel. 

C. controversial nature of space travel. 

D. the uncertain future of space exploration. 

试题答案：B 

37、The idea that education transmits knowledge is dated back to ______. （单选题） 

A. the Renaissance humanists 

B. the medieval universities 

C. the 18th century ’s American scholars 

D. the cold war period 

试题答案：B 

38、Which of the following statements best describes the organization of the author ’

s discussion of the role of political knowledge in the formation of political ideology 
during adolescence? （单选题） 

A. He acknowledges its importance, but then modifies his initial assertion of that 
importance. 

B. He consistently resists the idea that it is important, using series of examples to 
support his stand. 

C. He wavers in evaluating it and finally uses analogies to explain why he is indecisive. 

D. He takes care not to make an initial judgment about it, but later confirms its critical 
role. 

试题答案：A 



 

、There would be many more organ donors if ______. （单选题） 

A. laws are designed to encourage organ recycling 

B. only a few people become organ donors 

C. doctors are more willing to ask for donations 

D. transplant surgery is more successful 

试题答案：C 

40、It is predicted that people who will live on other planets would have to ______.
（单选题） 

A. appreciate the harsh conditions they encounter there. 

B. depend on the natural resources available there. 

C. take most daily necessities along with them. 

D. engage in scientific research. 

试题答案：B 

41、One factor causing death on organ transplantation is ______. （单选题） 

A. heavy bleeding during surgery 

B. destruction of patients ’ immune system 

C. objection from patients to taking organs of others 

D. doctors ’ lack of confidence 

试题答案：A 

42、The sentence “We have people... down the road ” (Line 3, Paragraph 2) probably means 
______.（单选题） 

A. we have people calling us for parking space two years ahead of time 

B. people called us for permission to use the places two years ago 

C. we received calls from people down the road two years ago 

D. people called us for school vacancies two years in advance 



 

D 

43、Education for education ’s sake was probably opposed by ______. （单选题） 

A. scholars in the Renaissance period 

B. Jill Kerr Conway 

C. scholars in the Dark Ages 

D. Plato 

试题答案：D 

44、Compared with B. T. Washington, Du Bois ’s political stand was ______. （单选题） 

A. less popular. 

B. more radical. 

C. less aggressive. 

D. more conservative. 

试题答案：B 

45、The second paragraph implies that the author is for ______. （单选题） 

A. the offering of the course “religious doctrines ”. 

B. a reconsideration of the obligations of universities to society. 

C. neutrality in value judgment in higher education. 

D. moral inspection of the staff and the courses they offer. 

试题答案：D 

46、According to Paragraph 1, what has been unsettled about language learning is ______.
（单选题） 

A. the way of proving Penfield ’s suggestions. 

B. the theoretical value of Penfield ’s argument. 

C. the intensity of language training programs. 



 

试题答案：D 

47、The term “unionization ” (Line 1, Paragraph 5) refers to ______. （单选题） 

A. mobilizing all workers to seize power. 

B. gathering workers into an organized group. 

C. working out strategies to raise workers ’ pay.. 

D. changing wage policies for women and minority men. 

试题答案：B 

48、According to Paragraph 3, having a job ______. （单选题） 

A. means earning a low wage. 

B. has never provided a way out of poverty. 

C. does not mean that the children will become rich. 

D. may not be a guarantee for a poor family to become better off. 

试题答案：C 

49、In the US, there is a long waiting list for organs because ______. （单选题） 

A. there is a shortage of actual organs 

B. only a few people become organ donors 

C. doctors have set a limit to the number of organ recipients 

D. transplant surgery is still experimental 

试题答案：B 

50、The Canadian health care system is ______. （单选题） 

A. financially supported by private enterprises. 

B. run according to different principles. 

C. designed for the convenience of the public. 



 

试题答案：C 

51、A foreign graduate student who applies for immigrant status must have ______. （单

选题） 

A. a U. S. employer ’s sponsorship. 

B. financial capital to create ten jobs. 

C. a job in an American company. 

D. the help of an immigration lawyer. 

试题答案：A 

52、Among those ______ has more value than any other nutrient. （单选题） 

A. vitamins 

B. protein 

C. minerals 

D. fat 

试题答案：B 

53、The first paragraph shows that Jill Kerr Conway accepts utilitarian emphasis in 
education ______. （单选题） 

A. who literately 

B. with reservation 

C. against her own will 

D. with contempt 

试题答案：B 

54、According to Paragraph 1, what has been unsettled about language learning is ______.
（单选题） 

A. the way of proving Penfield ’s suggestions. 



 

’s argument. 

C. the intensity of language training programs. 

D. the best age for second language learning. 

试题答案：D 

55、We learn from the text that ______. （单选题） 

A. Canadians have easy access to any type of medical care they want. 

B. the Canadian government compensates every citizen for medical expenses. 

C. a medical care is issued once a citizen seeks medical care. 

D. the principle of demand and supply does not apply in the Canadian system. 

试题答案：D 

56、A flight to other solar systems will be made more possible by ______. （单选题） 

A. technological breakthroughs. 

B. international co-operation. 

C. market competition. 

D. public pressure. 

试题答案：A 

57、In the author ’s opinion, education should ______. （单选题） 

A. be focused on moral courses. 

B. have a religious component. 

C. do away with objectionable doctrines. 

D. try to enhance students ’ moral standards. 

试题答案：D 

58、PPL scientists will try to solve their problem by ______. （单选题） 

A. removing the sugar molecule on the surface of pig cells. 



 

 

B. distinguishing human tissues form those of pigs. 

C. using the sugar-free nucleus in cloning a pig. 

D. taking out the sugar genes from the cell of a pig. 

试题答案：C 

59、Where is the article most likely taken from? （单选题） 

A. from an advertisment 

B. from a medical magazine 

C. from a newspaper 

D. from a biography 

试题答案：B 

60、The second paragraph implies that the author is for ______. （单选题） 

A. the offering of the course “religious doctrines ”. 

B. a reconsideration of the obligations of universities to society. 

C. neutrality in value judgment in higher education. 

D. moral inspection of the staff and the courses they offer. 

试题答案：D 

61、It can be inferred from Paragraph 2 that human society will become increasingly ______.

（单选题） 

A. worried about life on other planets. 

B. dependent on space tourism. 

C. accustomed to long-distance flights. 

D. associated with space exploration. 

试题答案：D 

62、During the 1980s, women started to play a more important role in ______. （单选题） 



 

 

A. demanding political rights. 

B. improving social welfare. 

C. supporting the family. 

D. earning better wages. 

试题答案：C 

63、In the author ’s opinion, education should ______. （单选题） 

A. be focused on moral courses. 

B. have a religious component. 

C. do away with objectionable doctrines. 

D. try to enhance students ’ moral standards. 

试题答案：D 

64、If a university is to be of any use, it should prepare the students for an intellectual 
career by ______. （单选题） 

A. imparting knowledge and developing skills 

B. developing students ’ independence in thinking 

C. disciplining the students in their subject fields 

D. promoting the imagination in connecting details with general principles 

试题答案：D 

65、The main reason for the latest rise of oil price is ______. （单选题） 

A. global inflation 

B. reduction in supply 

C. fast growth in economy 

D. Iraq ’s suspension of exports 

试题答案：B 



 

 

66、What is the theme of the text? （单选题） 

A. The causes of low-wage problems. 

B. The inequality of workers ’ pay. 

C. The improvement of the rates of pay. 

D. The economy and the rates of pay. 

试题答案：B 

67、The first paragraph implies that ______. （单选题） 

A. there is a conflict between laws and public opinions on the purpose of education. 

B. the moral purpose of education varies in form with the social situation. 

C. Greeks and the medieval Church had the same moral purpose in education. 

D. the moral purpose of education is to advocate religious beliefs. 

试题答案：B 

68、According to this text, piloted space missions will need to be ______. （单选题） 

A. more exciting than earlier film versions. 

B. supported by international organizations. 

C. more cost-effective than they appear to be at present. 

D. financed by individual governments. 

试题答案：C 

69、Smaller enterprises have difficulty using foreign talent because of ______. （单

选题） 

A. the costly recruiting process. 

B. the expensive legal counsel. 

C. the competition from big companies. 

D. the inability to provide sponsorship. 



 

 

试题答案：A 

70、It is difficult to send people to other planets because of ______. （单选题） 

A. lack of capacity of space exploration vehicles. 

B. the financial expenditure involved in space travel. 

C. controversial nature of space travel. 

D. the uncertain future of space exploration. 

试题答案：B 

71、We can draw a conclusion from the text that ______. （单选题） 

A. oil-price shocks are less shocking now 

B. inflation seems irrelevant to oil-price shocks 

C. energy conservation can keep down the oil prices 

D. the price rise of crude leads to the shrinking of heavy industry 

试题答案：A 

72、From the text we can see that the writer seems ______. （单选题） 

A. optimistic 

B. sensitive 

C. gloomy 

D. scared 

试题答案：A 

73、What does the “great difficulty which hinders all the higher types of human effort ” 

mean?（单选题） 

A. Prolonged and fixed routine work in the apprenticeship period. 

B. The young employee ’s seldom sees the president of the company. 

C. Universities ’ failure to get young people ready for future work. 



 

 

D. Young men having to obey orders in the early stage of their work. 

试题答案：A 

74、The superiority of the Canadian health care system is seen in ______. （单选题） 

A. its low medical cost and better public health. 

B. the immediate compensations form insurance companies. 

C. its prompt application of advanced technological innovations. 

D. the low charges made by medical personnel. 

试题答案：A 

75、Which of the following is true according to the text? （单选题） 

A. Ali the patients whom Dr Starzl operated on died on the operating table. 

B. To Dr Starzl it was very discouraging that his first liver transplant failed. 

C. Many doctors had performed organ transplant before Dr Starzl. 

D. Dr Starzl didn ’t give up even though he had failed in his attempts. 

试题答案：D 

76、One important source of fat is ______. （单选题） 

A. oil 

B. grains 

C. sugar 

D. olive 

试题答案：A 

77、Prior to this text, the author has most probably made an analysis of ______. （单

选题） 

A. brain gain in the United States. 

B. the cause of problems of the black people. 



 

 

C. the U. S educational programs for blacks. 

D. the procedure of foreign students ’ immigration. 

试题答案：C 

78、Carbohydrates are important for ______. （单选题） 

A. growth 

B. healthy bones 

C. energy 

D. the clotting of blood 

试题答案：C 

79、The author uses the term “common ground of understanding ” to refer to ______.
（单选题） 

A. familiar legislation regarding political activity 

B. the experiences that all adolescents share 

C. a society ’s general sense of its own political activity 

D. a society ’s willingness to resolve political tensions 

试题答案：C 

80、Which of the following statements is true according to the text? （单选题） 

A. Washington would not appreciate the idea of overthrowing social order. 

B. Racial separation is an outcome of accommodationist ideology. 

C. Washington would not support determined activist leadership. 

D. The Philadelphia Negro is a book on blacks in American South. 

试题答案：A 

81、The “tissue factories ” in the second paragraph most probably refers to ______.
（单选题） 

A. the five genetically identical piglets. 
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